## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / NOIDA / BAM-SECOND / SP/18 / 2017-2018

By the order of Examination committee, the following is the result of BAM - SECOND Semester held in the month of APRIL-2018

Date: AUG-2018

SESSION	N : 2017-2018 CLASS : B	AM		B	RANCH	: MANAG	EMENT					S	EMESTER	R / TRIMES	TER :	SECOND			MON	TH OF EXAM	: APRIL-2	018
ROLL NO	NAME		BAM1201(3)		BAM	BAM1203(3)		1205(3)	BAM	1202(3)	BAM1204(3)		BAM1206(3)		BAM1208(3)		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BAM/4501/17	ANUMEGHA BHATTACHARYA	U L	A -	24.0	A -	24.0	A+	27.0	A+	27.0	A -	24.0	A+	27.0	A -	24.0	-	-	177.0	21.0	8.43	-
BAM/4502/17	NIKHIL KUMAR GIRI	U L	A -	24.0	B+	21.0	В	18.0	A	24.0	A+	27.0	A -	24.0	В -	18.0	-	Ξ	156.0	21.0	7.43	-
BAM/4503/17	SUNDARAM PRATAP SINGH	U L	B+	21.0	B+	21.0	B+	21.0	A	24.0	A -	24.0	C	15.0	В -	18.0	-	-	144.0	21.0	6.86	-
BAM/4504/17	TANMAY SHEKHAR	U L	B+	21.0	В	18.0	C -	15.0	A	24.0	A -	24.0	В	18.0	B+	21.0	-		141.0	21.0	6.71	-
BAM/4505/17	SHUBHAM SHARMA	U L	B+	21.0	B+	21.0	В -	18.0	B+	21.0	A -	24.0	B+	21.0	B+	21.0	-	<u>-</u>	147.0	21.0	7.00	-
BAM/4506/17	AKSHAT BHARDWAJ	U L	B+	21.0	C	15.0	C	15.0	В	18.0	B+	21.0	C -	15.0	B+	21.0	-	-	126.0	21.0	6.00	-
BAM/4507/17	NISHCHAY RAIKWAL	U	B+	21.0	B+	21.0	A+	27.0	A	24.0	A+	27.0	B+	21.0	B+	21.0	-	_	162.0	21.0	7.71	-
BAM/4508/17	KARAN SINHA	U	B+	21.0	- A+	27.0	B+	21.0	A	24.0	A	24.0	A	24.0	В	18.0	-		159.0	21.0	7.57	-
BAM/4509/17	SHAURYAE MENDIRATTA	U	A	24.0	A+	27.0	Ex	30.0	A+	27.0	B+	21.0	A	24.0	A+	27.0	-	-	180.0	21.0	8.57	-
BAM/4510/17	SOURAV ANAND	U	A	24.0	A+	27.0	A+	27.0	A	24.0	A+	27.0	A	24.0	A	24.0	-	-	177.0	21.0	8.43	-
BAM/4511/17	GYANVI SAURABH	U	A	24.0	A+	27.0	A+	27.0	A	24.0	A+	27.0	В	18.0	A	24.0	-	-	171.0	21.0	8.14	-
BAM/4512/17	AWANTIKA SHUKLA	U	A	24.0	B+	21.0	Ex	30.0	A	24.0	A+	27.0	В	18.0	B+	21.0	-	-	165.0	21.0	7.86	

 BAM1201(3)
 : COMMMUNICATION : CREATIVE WRITING
 :

 BAM1203(3)
 : PRINCIPLES OF ANIMATION
 :

 BAM1205(3)
 : THEORY OF VISUAL STUDIES
 :

 BAM1202(3)
 : APPS DESIGNING
 :

 BAM1204(3)
 : MULTIMEDIA TECHNOLOGY
 :

 BAM1206(3)
 : 3DMODELLING
 :

 BAM1208(3)
 : FILM APPRECIATION
 :
 :

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) $_{\rm EXAMINATION\ DEPARTMENT}$

Reference: EXAM / JPP / BITIC / NOIDA / BAM-SECOND / SP/18 / 2017-2018

By the order of Examination committee, the following is the result of BAM - SECOND Semester held in the month of APRIL-2018

Date : AUG-2018

SESSION	N : 2017-2018 CLASS : Ba	ΑM		В	RANCH	: MANAC	EMENT					S	EMESTE	R / TRIMES	TER :	SECOND			MON	TH OF EXAM :	APRIL-20	018
ROLL NO	NAME		BAM	BAM1201(3)		1203(3)	BAM	1205(3)		1202(3)	BAM1204(3)		BAM1206(3)		BAM1208(3)		-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BAM/4513/17	PIYUSH PANDEY	U L	B+	21.0	B+	21.0	D	12.0	C -	15.0	A -	24.0	B+	21.0	A	24.0	-	-	138.0	21.0	6.57	-
BAM/4514/17	SHIWANI PRASAD	U	В	18.0	В	18.0	A	24.0	A	24.0	B+	21.0	B+	21.0	В	18.0	-		144.0	21.0	6.86	-
BAM/4515/17	SUBHASH KUMAR MAURYA	U	B+	21.0	A	24.0	Ex	30.0	A	24.0	A	24.0	Ex	30.0	B+	21.0	-	-	174.0	21.0	8.29	<u>-</u>
		L U	- B+	21.0	- B+	21.0	- A	24.0	- A	24.0	- A	24.0	- В	18.0	- B+	21.0	-	-	152.0	21.0	7.20	
BAM/4516/17	VARTIKA TYAGI	L	- A+	27.0	-	24.0	-	30.0	- A+	27.0	-	27.0	-	24.0	-	24.0	-		153.0	21.0	7.29	-
BAM/4517/17	ASHI JAIN	L	- A+	-	- A	- 24.0	Ex -	- 30.0	A+	-	A+ -	-	A -	- 24.0	- A	- 24.0	-	-	183.0	21.0	8.71	-
BAM/4518/17	SUNNY TOPPO	U L	A+ -	27.0	- A	24.0	Ex	30.0	A -	24.0	A+ -	27.0	B+	21.0	B+	21.0	-	-	174.0	21.0	8.29	-
BAM/4519/17	GAURAV SHARMA	U	B+	21.0	В	18.0	D	12.0	A	24.0	В	18.0	B+	21.0	B+	21.0	-		135.0	21.0	6.43	-
BAM/4520/17	VINAYAK TIWARY	U	В	18.0	В	18.0	F	0.0	C	15.0	D D	12.0	A	24.0	В	18.0	-	-	105.0	21.0	5.00	_
		L U	- B+	21.0	- A	24.0	- B+	21.0	- B+	21.0	- B+	21.0	- B+	21.0	- В	18.0	-	-				
BAM/4522/17	SUDHEER KUMAR SINGH	L		-	-	-	-	-	-	-	-		-	-	-	-	-		147.0	21.0	7.00	-
BAM/4523/17	ADITYA JAIN	U L	B+ -	21.0	- A	24.0	A+ -	27.0	_ A	24.0	A	24.0	B+	21.0	- B	18.0	-	-	159.0	21.0	7.57	-
BAM/4524/17	IRUM FAROOQI	U I	B+	21.0	В	18.0	B+	21.0	A	24.0	A	24.0	В	18.0	В	18.0	-	-	144.0	21.0	6.86	-
BAM/4526/17	BHAIRAV SINGH CHOUDHARY	U	В	18.0	С	15.0	В	18.0	С	15.0	A	24.0	В	18.0	В	18.0	-		126.0	21.0	6.00	-

BAM1201(3) BAM1203(3) BAM1205(3) : COMMMUNICATION : CREATIVE WRITING : PRINCIPLES OF ANIMATION : THEORY OF VISUAL STUDIES BAM1202(3) APPS DESIGNING MULTIMEDIA TECHNOLOGY BAM1204(3) BAM1206(3) 3DMODELLING FILM APPRECIATION BAM1208(3)

Controller of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM/JPP/BITIC/NOIDA/BAM-SECOND/SP/18 / 2017-2018

By the order of Examination committee, the following is the result of BAM - SECOND Semester held in the month of APRIL-2018

Date : AUG-2018

SESSION	: 2017-2018	CLASS : BAM			BRA	NCH :	MANAG	EMENT					S	EMESTE	R / TRIMES	TER : S	SECOND			MON	TH OF EXAM :	APRIL-2	018
ROLL NO	NAME	1	U I	BAM1201(3)	)	BAM1	1203(3)	BAM	1205(3)	BAM	1202(3)	BAM	1204(3)	BAM	1206(3)	BAM	1208(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			G	GR. PT	. [	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BAM/4539/17	SAMYAK JAIN	Ţ	U .	A 24.	0	В	18.0	A+	27.0	A	24.0	A	24.0	A	24.0	A	24.0	-	-	165.0	21.0	7.86	
BAW/4339/17	SAW I AK JAIN	1	L			-	-	-	-	-	-	-	-	-	-	-	-	-	-	103.0	21.0	7.80	-
BAM/4540/17	SHUBHAM JAIN	Ţ	U :	В 18.	0	С	15.0	B+	21.0	A	24.0	A+	27.0	В	18.0	A	24.0	-	-	147.0	21.0	7.00	
DAW/4340/1/	SHUBHAM JAIN		L			-	-	-	-	-	-	-	-	-	-	-	-	-	-	147.0	21.0	7.00	-

BAM1201(3)	: COMMMUNICATION : CREATIVE WRITING	-	:
BAM1203(3)	: PRINCIPLES OF ANIMATION	-	:
BAM1205(3)	: THEORY OF VISUAL STUDIES	-	:
BAM1202(3)	: APPS DESIGNING	-	:
BAM1204(3)	: MULTIMEDIA TECHNOLOGY	-	:
BAM1206(3)	: 3DMODELLING	-	:
BAM1208(3)	: FILM APPRECIATION	-	:
-	:	-	

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

## BIRLA INSTITUTE OF TECHNOLOGY, MESRA, RANCHI - 835215 (INDIA) EXAMINATION DEPARTMENT

Reference: EXAM/JPP/BITIC/NOIDA/BAM-SECOND/SP/18 / 2017-2018

By the order of Examination committee, the following is the result of BAM - SECOND Semester held in the month of APRIL-2018

Date : AUG-2018

SESSION	: 2017-2018	CLASS : BAM			BRA	NCH :	MANAG	EMENT					S	EMESTE	R / TRIMES	TER : S	SECOND			MON	TH OF EXAM :	APRIL-2	018
ROLL NO	NAME	1	U I	BAM1201(3)	)	BAM1	1203(3)	BAM	1205(3)	BAM	1202(3)	BAM	1204(3)	BAM	1206(3)	BAM	1208(3)		-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			G	GR. PT	. [	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BAM/4539/17	SAMYAK JAIN	Ţ	U .	A 24.	0	В	18.0	A+	27.0	A	24.0	A	24.0	A	24.0	A	24.0	-	-	165.0	21.0	7.86	
BAW/4339/17	SAW I AK JAIN	1	L			-	-	-	-	-	-	-	-	-	-	-	-	-	-	103.0	21.0	7.80	-
BAM/4540/17	SHUBHAM JAIN	Ţ	U :	В 18.	0	С	15.0	B+	21.0	A	24.0	A+	27.0	В	18.0	A	24.0	-	-	147.0	21.0	7.00	
DAW/4340/1/	SHUBHAM JAIN		L			-	-	-	-	-	-	-	-	-	-	-	-	-	-	147.0	21.0	7.00	-

BAM1201(3)	: COMMMUNICATION : CREATIVE WRITING	-	:
BAM1203(3)	: PRINCIPLES OF ANIMATION	-	:
BAM1205(3)	: THEORY OF VISUAL STUDIES	-	:
BAM1202(3)	: APPS DESIGNING	-	:
BAM1204(3)	: MULTIMEDIA TECHNOLOGY	-	:
BAM1206(3)	: 3DMODELLING	-	:
BAM1208(3)	: FILM APPRECIATION	-	:
-	:	-	

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.